Lecture XXXVII: \$10.3 (int) (eitain trignomitric integrals 510  
\$104 Trigrometric substitutions
  
Recall: Last time, we discussed integration as a recognition problem (what  
sintwork to use?)
  
GOAL: Find a method for integrating these is functions:  
O 
$$\int \sin^{m}(x) \cos^{n}(x) dx$$
  
So  $\int \tan^{m}(x) - \sin^{n}(x) dx$   
So  $\int \tan^{m}(x) - \sec^{n}(x) dx$   
Last time: we solved O defending in party of man (ecases):  
Key: d(sin x)= cox dx a d(cox)=-sin(x)dx moneed OLD  
powers!  
CASE A: wither mone and ODD (eg 1,3,5,7....)

Thick: Use trig identities to turn integrand into sums of functions of the home (1)  $\cos^{Q}(x) \sin(x)$  (if m is Obb) <u>in</u> (2)  $\sin^{Q}(x) \cos(x)$  (if n is Obb) Why is this good? These turns can be integrated by a simple substitution! How? We show it for (2) & then for (1): If <u>n is Obb</u>, we can write n as n = 2k+1 for once integer  $k \ge 0$ . Then  $\cos^{n} x = \cos^{2k+1}(x) = \cos(x) \cos^{2k}(x) = \cos(x) (\cos^{2k}(x))^{k} = (\cos(x)(1-\sin^{2}x)^{k})$ Then, the Binomial Theorem allows up to expand  $(1-\sin^{2}x)^{k}$ :

$$\frac{(1-\sin^2 x)^{k}}{(1-\sin^2 x)^{k}} = 1-k\sin^2 x + {\binom{k}{2}}\sin^4 x - \dots + (-1)^{k}\sin^{2k}(x)$$

$$\frac{(1-\sin^2 x)^{k}}{(1-\sin^2 x)^{k}} = 5\sin^{2n}(x)\cos^{2k+1}(x) = \sum_{j=0}^{k} (-1)^{j}{\binom{k}{j}}\sin^{2j+m}(x)\cos^{2k}(x)$$

$$\lim_{k \to \infty} \sin^{2k}(x)\cos^{2k}(x) = \sin^{2k}(x)\cos^{2k+1}(x) = \sum_{j=0}^{k} (-1)^{j}{\binom{k}{j}}\sin^{2j+m}(x)\cos^{2k}(x)$$

$$\lim_{k \to \infty} \sin^{2k}(x)\cos^{2k}(x)\cos^{2k}(x) = \sum_{j=0}^{k} (-1)^{j}{\binom{k}{j}}\sin^{2k}(x)\cos^{2k}(x)\cos^{2k}(x)$$

• If <u>m is ODD</u> with m=zk+1. We reverse the roles of sin & cos:  $sin^{2k+1}(x) cos^{n}(x) = \sum_{j=0}^{k} (-1)^{j} {k \choose j} cos^{2j+n}(x) sin x$ remy integration by substitution u=cos x. CASE B : both m & n en EVEN ( eg 0, 2, 4, 6 ....)

Write m=zk & n=zl fr k, l zo integus. Use half-angle formulas!  $\begin{cases} \cos^2 x + \sin^2 x = 1 \\ \cos^2 x - \sin^2 x = \cos(2x) \end{cases} \xrightarrow{2 \cos^2 x = 1 + \cos 2x} (\text{Add } 2 \text{ eqns}) \\ 2 \tan^2 x = 1 - \cos 2x} (\text{Substract seqns}) \end{cases}$  $\frac{\text{IDEA}}{z}: \omega^{2k}(x) \text{ sun}^{2k}(x) = \left(\frac{1+\omega zx}{z}\right)^{k} \left(\frac{1-\omega zx}{z}\right)^{k}$ ms Expand & use justher half-angle formulas until me of the exprents is ODD or O. Then, we can use CASE A & we get a constant, which we know how to integrate. Q: What about (2) = { lan x sec x dx & 3 = { cot x csc x dx? For these 2, we need to treat 3 different cases: CASE A = m ddSoulap (moore en even) no can use any of them • CASE B = n even · CASE C : wither, so meven & nodd. my con't solve (for now!) We solve the integrals by using specific Trig monetric identities & substitutions after expanding tan "x sec" x n cot" x csc" x with the Binomial Thm. (2)  $\begin{cases} CASE A : use \tan^{2} x = \sec^{2} x - 1 & A = d(\sec x) = \sec x \tan x d \\ CASE B : use \sec^{2} x = 1 + \tan^{2} x & A = d(\tan x) = \sec^{2} x d \\ \left(\frac{1}{\cos^{2} x} = \frac{\cos^{2} x}{\cos^{2} x} + \frac{3\omega^{2} x}{\cos^{2} x}\right) \\ \end{cases}$ (3)  $\begin{cases} CASE A : use \ \omega t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \omega t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \ddots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \cdots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \cdots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \cdots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \cdots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \cdots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \cdots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \cdots t^{2} x = \csc^{2} x - 1 & A = d(\omega t x) = -\csc^{2} x d \\ \cdots t^{2} x = \csc^{2} x d \\ \cdots t^{2} x = \csc^{$ & d(sec x) = sec x ton x dx CASE B : use  $CSC^{2}X = 1 + CST^{2}X$  $d(\csc x) = -\cot x \csc x dx$  $\left(\frac{1}{4m^2 \chi} = \frac{4m^2 \chi}{4m^2 \chi} + \frac{cm^2 \chi}{4m^2 \chi}\right)$ EXAMPLES 172  $(\underline{m=3}, \underline{n=1})$  my case A

L37@

$$\int \tan^{3} x \ \sec x \ dx = \int \tan (x) \ \tan^{2}(x) \ \sec x \ dx = \int \tan (x) \ \tan^{2}(x) \ \sec x \ dx = \int \tan (x) \ \tan^{2}(x) \ \sec x \ dx = \int \tan x \ \sec x \ dx = \int \tan x \ \sec x \ dx = \int \sec^{3} x - \frac{\sec^{3} x}{2} + C$$

$$= \int \sec^{2} x \ \tan x \ \sec x \ dx = -\int \ \tan x \ \sec x \ dx = \frac{1}{2} \ \frac{1}{2} \ \tan^{2} x \ \sec^{2} x \ dx = \frac{1}{2} \ \frac{1}{2} \ \tan^{2} x \ \sec^{2} x \ dx = \frac{1}{2} \ \frac{1}{2} \ \tan^{2} x \ \sec^{2} x \ dx = \frac{1}{2} \ \frac{1}{2} \ \tan^{2} x \ \sec^{2} x \ dx = \frac{1}{2} \ \tan^{2} x \ \sec^{2} x \ dx = \frac{1}{2} \ \tan^{2} x \ \sec^{2} x \ dx = \frac{1}{2} \ \tan^{2} x \ \sec^{2} x \ dx = \frac{1}{2} \ \tan^{2} x \ \sec^{2} x \ dx = \frac{1}{2} \ \tan^{2} x \ \sec^{2} x \ dx = \frac{1}{2} \ \tan^{2} x \ \sec^{2} x \ dx = \frac{1}{2} \ \tan^{2} x \ \tan^{2} x \ dx = \frac{1}{2} \ \tan^{2} x \ \tan^{2} x \ dx = \frac{1}{2} \ \tan^{2} x \ \tan^{2} x \ dx = \frac{1}{2} \ \tan^{2} x \ \tan^{2} x$$

1379 \$2 Inigonmetric Substitutions This method is used to compute integrals involving either of these 3  $kx pressims: (1) \sqrt{a^2 - x^2}$ where a >0 is a constant. (z)  $\sqrt{a^2 + \chi^2}$ (3)  $\sqrt{\chi^2 - a^2}$ Each expression requires a different substitution of x as a hig function  $x = \alpha \sin \alpha \qquad m \Rightarrow \sqrt{\alpha^2 - x^2} = \sqrt{\alpha^2 - \alpha^2 \sin^2 \alpha} = \sqrt{\alpha^2 - \alpha^2 \sin^2 \alpha} = \alpha \cos \alpha$  $(\mathbf{I})$  $X = \alpha \tan \alpha \quad m = \sqrt{\alpha^2 + X^2} = \sqrt{\alpha^2 + \alpha^2 \tan^2 \alpha} = \sqrt{\alpha^2 + \alpha^2 \alpha} = \sqrt{\alpha^2 + \alpha^2 \alpha}$ (2)  $u_{x} + \frac{1}{x} \frac{w^{2}u}{w^{2}u} = \frac{1}{u^{2}} = 5ec^{2}u$  $x = a sicu \longrightarrow \sqrt{x^2 - a^2} = \sqrt{a^2 sic^2 u - a^2} = \sqrt{a^2 tan^2 u} = a tan u$ (3) Germetric Interpretation: x, a an sides of a night triangle. (z)  $\int u^2 + X^2$ (1)  $\sqrt{a^2 - \chi^2}$  $(3) x^2 - a^2$ ay $\sqrt{a^2-\chi^2}$ Jatx2 Ju xyuyua=xusu x = a tanu x = a xmu m X=<u>a</u>\_asecu Gou  $\cos u = \sqrt{a^2 - x^2}$  $cou = \frac{a}{\sqrt{a^2 + x^2}}$  $\Delta m u = \sqrt{\chi^2 - a^2}$  $\tan u = \frac{x}{\sqrt{a^2 - x^2}}$  $Sunu = \frac{x}{\sqrt{a^2 + x^2}}$  $\tan u = \sqrt{\chi^2 - a^2}$ Examples  $\int \frac{\int a^2 - x^2}{x} dx = \int \frac{a \cos u}{a \sin u} a \cos u du = a \int \frac{\cos^2 u}{\sin u} du$ dx=acoudu  $= \alpha \int \frac{1 - sm^2 u}{sm u} du = \alpha \int \frac{1}{sm u} du - \alpha \int sm u du$ 

$$= -\alpha \ln (\csc(u) + \cot(u)) + \alpha \cos u + C$$

In times of x? • (Section) = 
$$\frac{1}{Mm(u)} = \frac{a}{x}$$
,  
 $\cos u = (1-Mm(u) = \sqrt{1-\frac{1}{2}}\sqrt{2}} = \frac{\sqrt{a^{2}}\sqrt{x}}{x}$ ,  
 $+ \frac{1}{6}\sqrt{1-\frac{1}{2}}\sqrt{2}} = \frac{\sqrt{a^{2}}\sqrt{x}}{x}$ ,  
 $+ \frac{1}{6}\sqrt{1-\frac{1}{2}}\sqrt{2}}$ ,  
 $\frac{1}{6}\sqrt{1-\frac{1}{x}}\sqrt{1-\frac{1}{x}}} = \frac{1}{6}\sqrt{1-\frac{1}{2}}\sqrt{1-\frac{1}{x}}} = \frac{1}{2}\sqrt{1-\frac{1}{2}}\sqrt{1-\frac{1}{x}}} + \sqrt{1-\frac{1}{x^{2}}} + C$   
(a)  $\int \frac{dx}{x^{2}} = \int \frac{a}{\sqrt{1-\frac{1}{x}}} \frac{a \sec^{2}u}{x} du}{\sqrt{1-\frac{1}{x}}} = \frac{1}{2}\sqrt{1-\frac{1}{2}}\sqrt{1-\frac{1}{x^{2}}} + \sqrt{1-\frac{1}{x^{2}}} + C$   
(b)  $\int \frac{dx}{\sqrt{1-\frac{1}{x^{2}}}} = \int \frac{a \sec^{2}u}{x} du}{\sqrt{1-\frac{1}{x^{2}}}} \frac{1}{2}\sqrt{1-\frac{1}{x^{2}}}\sqrt{1-\frac{1}{x^{2}}} + C = \frac{1}{2}\sqrt{1-\frac{1}{x^{2}}}\sqrt{1-\frac{1}{x^{2}$